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var myVar
~ function checkscope

v . .'__ v AR "

= "Ioc'_éi"-; // Declare a local variable
document.write(myVar);

}

checkscope();
document.write(myVar);
</script>

</body> J;!' p -.‘

B3> Sle oo JiS5 —(plins 9 dliiosgs T sl




JS J‘)Lb)-“*i:‘ &|9.3| —OT g_é_.;.)g_',' 092_; = “'..

3 Y. 71., Q . 2 _ h
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. varb=
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vard=7;
document.write(a + b);
document.write("<br>");
document.write(c + d);
</script>
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<script>
function ( Parameter1 , Parameter2 ){

( Argument1 , Argument2 );
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<script>
function ShowMessage(

Alert(“plw’+name+” ,45")

}
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document.write( "<br>");
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function Show(){
- document.write(Name + Family);
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return Show();

}
ShowMessage( "Sadegh" , " Asadi" );

</script>
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var tag=3(this);

timer= setTimeout(function(){

$(‘ >ul’, tag).fadein();

$( >menu_top3’, tag ).fadein();
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timer= setTimeout(function(){
$(‘ >ul’,tag).fadein();
$(‘ >menu_top3’, tag).fadein();
},2000);
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var tag=3(this);

timer= setTimeout(function(){
$(‘ >ul’, tag).fadein();

$(‘ >menu_top3’, tag ).fadein();

},2000);
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let persons = |
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{id: 2, name: 'Amin’, age: 12},
. ~{id: 3, name: 'Amir', age: 32},
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<script>
var timer
$(‘menu_top li’).hover(function{
var tag=%$(this);
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Alert(‘timerattr’);
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<script>
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var attr=%(‘.box1’).  (‘data-color’);
alert(attr);
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